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X 4 B2 | b oD ADKES 'Fﬁﬁ“ﬁ?ﬁ\?@#@li NDKRES X 4 B2 | LimhoditEs ADKRES R 4 timhontks | & ADKRES
(m) (kN/rri) EE B (m) (kN/ i) (m) (m) (kN/ ) (m) (m) (kN/ i)
100kN/mM##BZ % = = = = = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00| 0.00 6.61 83.38 0.00 6.61 8.99 ZThLLSE 1.00| 500 ~ 8.04 83.38] ThLlst | 500 ~ 8.04| 1.68 8.99
100kN/mM#%#BZ % 1.00{ 0.00 0.32 104.71 - - -| 100kN/MZE#B 2% 1.00] 11.33 ~ 1240 104.71|3m%#B% % al ~ - - -
Zh st 1.00{ 0.32 8.10 100.00 0.00 8.10 10.78 Zh LS 1.00] 500 ~ 11.33 100.00| Zhlist | 500 ~ 12.40] 201 10.78
100kN/mM##8Z % 1.00{ 0.00 0.46 106.73 - - -| 100kN/iZi#8 % % 1.00| 10.86 ~ 12.27 106.73|3m%#BZ % = ~ = = =
Zh st 1.00| 0.46 8.24 100.00 0.00 8.24 11.07 Zh LS 1.00] 500 ~ 10.86 100.00f Zhlist | 500 ~ 12.27| 207 11.07
100kN/mM#%# 8% % = = = = = = -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ - - -
Zh st 1.00| 0.00 7.23 92.02 0.00 7.23 10.62 Zh LS 1.00|] 5.00 ~ 10.00 92.02| Zhils | 500 ~ 10.00| 1.98 10.62
100kN/mM#%# 8% % 1.00{ 0.00 0.02 100.29 - - -| 100kN/iZi#8 % % 1.00| 1053 ~ 10.58 100.29|3m%#BZ % = ~ = = =
Zh st 1.00| 0.02 7.80 100.00 0.00 7.80 11.67 Zh LS 1.00|] 500 ~ 10.53 100.00| #h it | 500 ~ 10.58| 2.18 11.67
100kN/mM#%#BZ % = = = = = = -| 100kN/mZ#8 25 = -~ = -|3m%i#Bz% -~ - - -
Zh st 1.00] 0.00 6.86 86.81 0.00 6.86 14.40 Zh LS 1.00| 500 ~ 11.93 86.81| Thuls | 500 ~ 11.93] 2.69 14.40
100kN/mM#%# 8% % = = = = 0.00 0.41 19.03| 100kN/m%Z# x5 = -~ = -|3m%i#Bx%|1000 ~ 11.44| 3.56 19.03
Lot 1.00| 0.00 2.71 35.40 0.41 2.1 16.05 Zh st 1.00f 500 ~ 11.44 3540 #n iyt | 500 ~ 10.00f 3.00 16.05
100kN/mM%#EZ % = - = = = = -| 100kN/MZE#BZ % = -~ = -|3m%EiEZ S = ~ = = =
ZnLst 1.00| 0.00 7.51 95.97 0.00 7.51 9.50 Zhn st 1.00f 500 ~ 9.84 95.97| #h Ly | 500 ~ 9.84| 1.77 9.50
100kN/mM%#EZ % 100kN/m%#BZ % ~ ImEEZD ~
Zh st Zh st ~ ZhLst ~
100kN/mM%#EZ % 100kN/m%#BZ % ~ ImEEZD ~
ZFh st Zh st ~ Zh st ~
100kN/mM%#EZ % 100kN/m%#EZ % ~ ImEEZD ~
Zhn st Zh st ~ Zh st ~
100kN/mM%#EZ % 100kN/m%#BZ % ~ ImEEZD ~
Zh LS Zh st ~ ZhLS ~
100kN/mM%#EZ % 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS Zh st ~ ZhLS ~
100kN/mM%#EZ % 100kN/m%#BZ % ~ ImEBZD ~
Zh LS Zh st ~ ZhLS ~
100kN/mM%#E% % 100kN/mM%#BZ % ~ ImEEZD ~
LS ZThLst ~ ZTHLSE ~ |
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